What is the next term?
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What is the next term?
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7,0.7,0.07, 0.007, 0.0007 ...



jgalvan
Text Box
         Created by Jason Galvan


Geometric
Sequences

Additive
Inverse
Property

Arithmetic
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Addition:
(4+2)+8=4+(2+8)

x+(3x+%)=(x+3x)+%

Addition:
27/6+3 = 3+2.76

(@+d5)+7=(5b+a)+7

Multiplication: Multiplicatiog: )
3°15)6=3"(1.5"6) 8-5=5-(8)
2(3x)=(2 " 3)x y:9=9y
] l_
9.1=9 2 -=1
— — 1.
1-(-10)=-10 1= (-2) -9
3 _ 3 1
3750 ] x+-=1(x#0)
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Commutative Associative
Property Property

Multiplicative Multiplicative
Inverse Identity
Property Property
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0=8-0 <\
-4(2 + 3) =-4(2) +-4(3)
0(-13)=0 5-(y-7)=(5y)-(5"7)
5 _ 1 A1
=x-0=0 (2:0)+(2-5)=2(5+5)
X
6+2x @ 10
00 ﬂ -\/_6
2x + 3°
A mathematical sentence stating that two
expressions are equal. o
276+3(53+276 3(y +3.9) -3

3x () 6.9
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Multiplicative
Property of
Zero

Distributive
Property

Expression Equation
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2(y + 3)
3+ x=2.08

A=nr

(-4) +(@2x
%

5>
o

3 terms

5x° + (-2x)
—— —
2 terms

2
gab
\ﬂ_j

1 term
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Coefficient Variable

Constant Term
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Like Terms Inequality

Functions Relations
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Determine the distance a car
will travel going 55 mph.

independent

dependent
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Table of

Domain
Values

Dependent/
Independent Range
Variable
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y=20+7

X represents the
independent variable
(input values or domain)

@=2x+7

y represents the
dependent variable
(output values or range)

The total distance Sam walks depends on how long he
walks. If he walks at 2.1 mph, show multiple
representations of the relationship.

d t d
HH 0 0
H 1 2.1
7= 2 42

4 84

d= 2.1t

2x—95.1=-3.4x+11.04

2 5
§(n+9)—-gn
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Dependent Independent
Variable Variable

Multi-step Connecting
Equations Representations
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A student walks 2 miles per hour

2 miles
1 hour

miles

|~

hours
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Unit Rate as Multistep
Slope Equation
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